2 PIECE ROD END BEARING  CSELF-LUBRICATING]

R B I eMINEBEA.COM
SELF-
ROD END FEMALE | | ioricating | 2 PIECE

J Materials e

H
BODY 303 Stainless Steel %@/“ LINER
BALL  440C Stainless Steel | é
LINER  Teflon / Fabric i

§ Description of Types
RBT DL xx T

T No Letter Indicates Standard Breakaway Torque
Letter “T” Indicates Low Breakaway Torque

w
Bearing Bore Code L J TH
S

No Letter Indicates Right Hand Thread RBT
Letter “L” Indicates Right Hand Thread

» For X-1276 LINER add suffix “D”
> Basic Part No.

oS
%%%@%

Dimensions in mm
Static

MIEBEA 1 98| oD Welw P T | L eN| 6P| C | s | o 40 seDB Radal S12 | timate | 0PI
N?). H7 | £05 | _ 8_13 +03| =05 |JSClass2 |+ 07| 05| =05 0.7 | *025|(deg)| Ref. | Ref. 'm'EN o Lg:ld We;ght
RBT3 3 | 12 6 | 450 [ 21 [M3x05 100 65 | 80 | 30 | 7 |11 | 68 | 904 041 166 | 10
RBT4 4| 14 | 7 |52 | 24 [M4x07 [120| 80 [95 [ , | 8 | |76 [ 1032 0.60 245 | 12
RBT5 5 | 16 | 8 [ 600 | 27 [M5x08 | 125| 90 | 110 | 9 88 | 1191 0.98 784 | 16
RBT6 6 | 18 | 9 |675] 30 [M6x10|135[ 100 [ 180 [ ., [ 11 |10 [ 111 | 1429 144 862 | 25
RBTS 8 | 22 | 12 [ 900 | 36 |M8x 125|160 | 125 | 160 | 14 127 | 1746 269 1176 | 43
RBT10 |10 26 | 14 [1050 [ 43 [M10x 15[ 195 [ 160 [ 190 [ [ 17 | 12 [ 162 [ 2064 | 416 1667 | 72
RBT12 [ 12 | 30 | 16 [ 1200 | 50 [M12x175| 240 | 175 | 220 | 19 176 | 2381 588 2353 | 107
RBT14 |14 34 [ 19 [1360 [ 67 [ .~ 1270 | 200 [ 250 14 [ 192 | 2699 661 2647 | 160
RBT15 [ 15| 36 | 20 | 1450 | 61 ~ ]300 210 | 260 | 80 | 22 [ 13 [ 215 | 29.37 8.09 3236 | 185
RBT16 | 16 | 38 | 21 | 1500 | 64 | MI16x 20| 330 | 220 | 270 15 | 194 | 2858 | 833 3334 | 210
RBT18 | 18 42 | 23 [1650 | 71 [M18x15[360 | 260 [310 | . | 27 [ 16 [ 219 [ 3175 | 1152 | 4609 | 295
RBT20 [20 | 46 | 25 [1800 | 77 |M20X 15400 | 275 | 340 | ~~ | 30 | 14 | 244 | 3493 | 1201 | 4805 | 380
RBT22 [ 22 | 50 | 28 [ 2000 | 84 |M22X 15| 430 | 300 | 370 32 || 268 [ 3810 | 1348 | 5393 | 490
RBT256 | 25 | 56 | 31 | 2200 | 94 |M24x 20| 480 | 335 | 420 | 120 | 36 296 | 4286 | 1740 | 6962 | 870
RBT28 [ 28 | 62 | 35 | 2400 | 103 | M27 X 20| 530 | 375 | 460 41 | 17 | 323 [ 4763 | 2083 | 8335 [ 1180
RBT30 |30 | 66 | 37 | 2500 | 110 | M30 X 20 | 560 | 400 | 500 | 150 348 | 5080 | 2476 | 9904 | 1450
§ Notes

1. Teflon liner permanently bonded to race I.D.
2. Oscillation load shall be kept within the static load range,
as Teflon liner load endurance is greater than body breaking load.
3. Made to order only. (from RBT15 to RBT30)
4. No Load Rotational Breakaway Torgue.
Standard All Size: 0.02 ~ 0.34N - m
Low Torque All Size: 0.02N - m MAX
(Radial Clearance 0.05mm MAX)
O Please consult MINEBEA for availability of bearings in this series.

Bore size ~3 ~ 6 ~ 10 ~ 18 ~ 30
H7 Tolerance + 10 + 12 + 15 + 18 + 21
(m) 0 0 0 0 0

Copyright 2006, Minebea Co., Ltd. Page 43





